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(The result is computed from the three problems with the highest scores; the scores

for the individual parts of a single problem are summed.)
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A treasure is buried under a square of the 8 X8 board. Under each other square
a message is placed, indicating the minimal number of steps needed to reach
the square with the treasure. (To move from a square to any adjacent square
(by side), one step is required). What is the minimal number of squares one

needs to dig up in order to get to the treasure for sure?

Is there a positive integer such that it has an odd number of even positive
divisors and an even number of odd positive divisors?
Remark: The set of the divisors of an integer always includes 1 and the integer

itself.

Given a parallelogram ABCD. The incircles of triangles ABC and ADC touch
diagonal AC at points X and Y respectively. The incircles of triangles BCD and
BAD touch diagonal BD at points Z and T respectively. Prove that if points

X,Y,Z, T are distinct then they are the vertices of a rectangle.

Brackets are placed in the expression10:9:8:7:6:5:4:3:2:1
so that the resulting number is integer. What is
the maximal possible value of this integer?

the minimal possible value of this integer?

Rhino's skin has vertical and horizontal folds on its sides, 17 in total. If Rhino
scratches one of its sides against a tree, then either two horizontal or two
vertical folds on this side disappear, but two folds, one horizontal and one
vertical, appear on the other side. (If there are less than two horizontal folds
and less than two vertical folds, then nothing happens.) Can it happen that the
numbers of vertical and horizontal folds on each of Rhino's sides have been

interchanged after Rhino scratched its sides several times?



